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Section A ( Reading) -20 Marks

Al. Read the passage carefully and answer the questions.

It is early morning. The road is asleep. Everything is quiet. But listen!

The birds are calling softly. “Chirrup, chirrup, chirrup,” say the sparrows.

“Chirrup, chirrup, chirrup”.

9 ¢

“Caw, caw, caw,” says the crow. “Caw, caw, caw,” “wake up, wake up.”
Here is someone else now. “Tring-a-ling, tring-a-ling.” It is the newspaper boy.

“Tring-a-ling, tring-a-ling,” says his bicycle. “ Tring-a-ling, wake up.”

i) What time is it? (1M)
Ans.

ii)  Who is riding the bicycle? (1M)
Ans.

iii) What are the birds doing? (1M)
Ans.

iv)  Find the opposites from the passage. (1x2=2M)
a) awake x

b) then x
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A2.Read the passage carefully and answer the questions.

Mother, your baby is silly! She is so very childish! She does not know the
difference between the lights in the streets and the bright stars. When we play
with pebbles, she thinks they are real food. She even tries to put them into her

mouth.

When I open a book before her and ask her to learn her a b c, she tears the pages
with her hands and roars with joy at nothing. This is your baby’s way of doing her
lessons!

i. Fill in the blanks. (1x2=2M)
a) The baby is

b) She the pages of the book.

ii. What does the baby do with the pebbles? (1M)

Ans.

iii. Does the baby know the difference between the lights and the bright stars?

(IM)
Ans.
iv. Find the word from the passage which means foolish. (1M)
Ans.
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A3. Read the passage carefully.

This is a story from Greece. Daedalus and his son Icarus were in prison.The

prison was on an island and it had very tall and strong walls. The two men wanted

to escape. But how?

The man and his son found lots of feathers on the island. They joined the

feathers together with wax and made two pairs of wings. They tied the wings to

their arms. They climbed to the top of the prison, flapped their wings, and jumped.

The prison guards, with their mouths open, looked up at the two ‘bird men.’

i) Write true or false.
a. Icarus and Daedalus were in the palace.
b.They wanted to escape from that place.

c.They made wings of paper.

ii) Fill in the blanks.

a. This story is from

b. They tied the wings to their

c. The guards looked up at the two

iii) Find the opposites from the passage.

a.short x b. weak

iv) Tick the correct answer.

a) Where was the prison?

a. on a mountain b. on an island

X

c. on the plain

(1x3=3M)

(1x3=3M)

(1x2=2M)

(1x2=2M)
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b) What kind of walls did the prison have?
a. tall and strong b. small and rough ¢. short and old

Section B (Textual Questions)- 10 Marks

B1. Choose the correct answer.

1)The feet of the camel are

a. thick and fat b. thick and padded ¢. thin and padded
1) Where was the horse going?

a. to the village b. to the city c. up the hill

B2. Answer the following questions.

1) Why do you think Meena was carrying her brother?

Ans.

(1x2=2M)

(2x4=8M)

1) Who does the postman bring letters for?

Ans.

i11) What are the “precious loads” that trains carry?

Ans.
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1v) Where did the mother tiger and her small tiger cub live?

Ans.
Section C ( Creative Writing) -10 Marks
C1. Write a paragraph on how you help at home. (5M)
Help box-
clean organize bookshelf buy grocery
water the plants set the shoe stand toys
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(SM)

C2. Look at the picture and write a paragraph on it.
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Section D (Grammar) - (15 Marks)

D1. Write plurals for the following words. (1x2=2M)
a. calf- b. puppy-
D2. Rearrange the words to make correct sentences. (1x2=2M)

1) makes / a / clown / laugh/ people

Ans.

i1) caught / frog / tiger cub / the / a / night /one

Ans.

D3. Make a sentence. 1M
pounce-

D4. Underline the silent letters in the following words. (1X2=2M)
i) talk 11) know

DS. Write the full forms of - (1X2=2M)
1) we’re i1) it’s

D6. Fill in the blanks with can or cannot. (1X2=2M)
1) We read and write.

i1) Old people walk fast.

D7.Choose the correct options and fill in the blanks. (1X2=2M)
1) Last , I had high fever. (weak/week)

i1) Delhi is a city. (big/long)
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D8. Complete the sentences.
Example: A tiger lives in a den.

1) A bee

(1x2=2M)

11 )A sparrow

Section E (Vocabulary)-10 Marks

E1. Give another word for the following.

stones-

E2. Add -ly / -ish to make new words.

1) fool- i1) love-

E3. Match the words with the pictures.

i) hoof a)

ii) fin b)

iii) tusk c)

iv) mane d)
Answers: i ii iii iv

E4. Write the antonym (opposite word) of—

friend x

(1M)

(1X2=2M)

(1X4=4M)

(IM)
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ES. Write the meanings of the following words.

1) dawn-

11) fortnight-

Section F (Spellings) - 10 Marks

F1. Make correct words from the jumbled letters.

1) folw- 11) ntari-

F2. Write the words that rhyme with the following--

1) fine- i1) hare-

F3. Fill in the blanks to make meaningful words.

1) n ug ty 1) 1 S ons

v _ 1l ge

F4. Encircle the correct spellings.

1) pasengers passenggers passengers
11) newsppaper newspaper newzpaper
1i1) astronaut astrunout astronaght

(1x2=2M)

(1x2=2M)

(1X2=2M)

(1x3=3M)

(1x3=3M)
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Section G (Handwriting) - S Marks

G. Write the paragraph neatly. (5M)

Rabindranath Tagore, one of the greatest poets, was born on 6 May, 1861,
at Calcutta. He first wrote a book of poems called Evening Songs. But the book
which made Tagore known all over the world as a great poet was Gitanjali.

His famous song ‘Jana Gana Mana’ is the national anthem of India. This
great poet of India died on the 7™ August, 1941, leaving behind a name that will
never die.
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Section A: Observation and Reporting (30 marks)

Q1. Fill in the blanks with the correct words given in the brackets. (1x10=10)

a) A special way of reading and writing for people who cannot see is called
. (Braille /Gurmukhi)
b) The pots are dried in the sun and in the fire. ( Kiln / baked)

c) helps when we get hurt. (Turmeric / Banana )

d) is surrounded by blue mountains. (Char Chinari / Delhi)

e) Telephone is a means of .( communication / transportation)
f) A trowel is made by a . (Blacksmith / Goldsmith)

g) Tanks (tanka) are made to collect water (sea/rain)

h) is prepared with almonds and cardamom. (Kahwa/ Coffee)

1) A football game has (11/10) players in each team.

1) are woven to make a cloth. (Papers / Threads)

Q2. Name the following: (1x5=5)

a) Any one hilly area

b) Cloth people wear unstitched.

c) Leaves that we eat (any one)

d) Game which we play with a ball.

e) A place where there is a severe water scarcity during summer.
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Q3. We keep some pet animals at home. We look after them too. In the

following table names of such animals are given. Complete the table. (2)

Name of the
Why do we keep them
animal

Cow/Buffalo

Hen

Q4. Identify the animal. Write the name and four sentences about this animal.

(SM)

1.
2.
3.
4.
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QS. Answer the following: (2x4=8)

a) Why do blind people carry a white stick when they go out?

b) Which of the two do you like more — writing a letter or making a phone call?

Why?

c) How does one enter the houses made on bamboo pillars in Assam?

d) Write any two ways of re-using water.
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Section - B : Identification and Classification (25 Marks)

Q6. Write Yes/ No against the following statements. (1x5=)5)

a) The family members love each other very much.

b) Letters are sorted in shops.

(
(
c) Lion is a pet animal that we keep in our house. (
d) Birds eat insects. (

(

N N N N N

e) Shikara is a type of boat found in Kashmir.

Q7. Give reasons: 2 X2=4)

a) People prefer to make a call instead of writing a letter.

b) Sieve is attached to the mouth of the pipe that is attached to the tanka.

Q8. Identify the pictures and write their names in the boxes. (1X5=5)

Picture Name
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Q9. Answer the following: (2x3=6)

a) Who does not help in cooking food in the family and why?

b) Why did the crow need a pot?
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c) Why are symbols used in a map?

Q10. Write the process of posting a letter in correct order. (5)

Section - C : Discovery of Facts (25 Marks)

Q11. Circle the odd one. (1x5=5)5)
a) Flower soil leaf stem
b) Telephone Postcard E-Mail Whatsapp
C) carrot mango apple guava
d) Turmeric Tulsi Eggs Ginger
e) Air Water Food Rat
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Q12. Answer the following: (2X5=10)

a) What do living things need to live?

b) Write any two things for which we are dependent on animals.

c) What are the things the family members do together ? (any 2 points)

d) Who fetches water in Madho’s house and what does he fetch water

in?

e) Write names of any four animals those you cannot touch.

Q13. We eat different parts of a plant. Put these food items in the correct
column. 2)

Ginger, Spinach, Curry Leaves, Radish

Leaves Roots

8|9Page



Q14. Write and draw one plant product and one animal product. “4)

Plant product Animal Product

Q15. Draw and name.

a) any one means of communication. b) any one road sign “4)
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Section A ( 20 Marks )

Q1. Choose the correct answer and fill in the blanks .

(1X 6 =6)

a) Which unit will you generally use to measure the weight of a big pumpkin?

(Kg, g)
b) Find the missing number in the pattern? 2,5,8,

c) 1 rupee= paise. (1000, 100)

E'ﬁ?’/

d) Seven T&/N0 " have legs .

o

e) 1kgof will require the bigger bag .
f) The numbers that end with 2, 4, 6 and 8 are called

4. (10,11)

(56,65)
(potato, popcorn )

numbers.

Q2. Do as directed.

a) 8 tomatoes of same size weigh 500 g .
1. tomatoes weigh 1 Kg.

i1. tomatoes weigh 2 Kg.

b) Find the secret message.

1. 1A2L3L 4T5H6E 7B8EOSSIOT

11. 3F303R 3Y303U3R 3M3A3T3H 3E3X3A3M

c) Write appropriate answers.
1. Half litre = ml.

11. 500 ml makes 2 litres.

(even, odd)

2 X 5=10)
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d) Name two containers from your kitchen that hold more than a litre of water

b

e) Number the students names given below in the alphabetical order in which

they will come.

NAME NUMBER
Adhira
Diya ';\_-’5
Zuber f&
Saanvi _
Peter - 2
Simpson ﬁ
Charu _‘: ;{-
Anisha |
(S (V] & o o w
Q3. Do as directed: (1x4=4)

a) Circle the heavier thing-

a tennis ball or a cricket ball

b) Pick the right amount of things needed to prepare vegetable biryani from the
help box given below and fill in the gaps.

Two, bowl, spoon, kilogram

) a of salt

i) a of peas

1i1) onions

1v) half of rice
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c) Name a thing that we generally buy in-

1) grams -

i1) kilograms -

Section — B (20 Marks )

Q4. Tick the correct answer. 1X6=6)
a) If =3, then =

b) Repeated subtraction is also known as

(1) Multiplication  (ii) Subtraction  (iii) Division  (iv) Addition
c) There are 16 socks. How many girls can wear these socks?

()16 (i) 12 (i) 4 (iv) 8
d) What is the missing number?

40-[_1=5

(1)1 (i) 8 (ii1) 4 (iv) 88
e) How many 50 paise coins make Rs. 2?
(1) 50 (1) 12 (i) 4 (iv) 2
f) 3x2x5x0=
(13 (i) 2 (ii1) 30 (iv) 0
QS. Answer the following questions. 2X5=10)

a) There are three people and one horse. How many feet are there altogether?
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b) Arrange 6 triangles /\ equally in the circles given below.

c) A survey was done to find out the hobbies of 22 children of class III. Represent
the data given below by means of a smart chart by showing for each
child.

Hobbies No. of children
Drawing 7
Music 6
Stamp collection 5
Coin collection 4

No. of children

Drawing Music Stamp Coin
collection collection

5|13Pages



d) Complete the sequence.

1. 44,

ii.ﬂ,ﬂ

i, 04y,

e) Guess their weights and match:

1) an elephant

2) a sack of rice

, 66 , 77 ,

1) more than a kg

i1) less than a kg

3) a new born baby 111) more than 1000kg
4) a mango iv) around 50 kg
Q6. Solve. 1X4=4)
ATOMIC ENERGY CENTRAL SCHOOL
ATTENDANCE BOARD
DATE: 01/02/2020
CLASS NUMBER OF STUDENTS STUDENTS
STUDENTS PRESENT ABSENT
I 30 25 5
II 29 22 7
11 33 30 3
v 30 28 2
\Y 31 22 9
TOTAL
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1. How many children in all are present on that day?

Ans.

1. Which class has the highest number of absentee students?

Ans.

iii.  What is the total strength of the school?

Ans.

iv.  Each absent student is shown by © in the table. Draw faces to show the

absentees in Class I'V.

Class Absentee students
Class I OO0 OO

Class 11 ODOOOLOLOOO
Class IV

Section- C ( 20 Marks )
Q7. Do as directed. (1X4=4)

a) State true or false.

5 litres + % litre + % litre = 6 litres (True / False)

b) Fill in the blank. 15+ 5=
c¢) How many 10 kg weights are needed to measure 30 kg rice?

Ans.

d) A jug has the capacity of 5 litres. How many such jugs are needed to fill a
10 litre jar?

Ans.
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Q8. Do as directed. (2X6=12)

a) Multiply using box method. 35 X 53

< 30 5 TOTAL
50
3 15

35X 53 =

b) Fill in the gaps.

48
N
o Jle— J— ) [ ]

c) Write all even numbers between 262 and 271 .
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d) Solve the following:

i).

(+)

)

Rs. paise
26 75
23 25
Rs. paise
76 50
43 00

e) Lalita poured water 8 times with her water bottle to fill a pot. Shyam poured

water 4 times with his water bottle to fill the same size pot.

1. Whose water bottle holds more water?

i1. Lalita’s bottle can hold

Shyam’s bottle.

f) Look at the price list and answer the following:

PRICE LIST
A chocolate bar | Rs. 25.00
A toffee Rs. 4.00
An ice-cream Rs. 10.00
A toy Rs. 50.00

( twice / half') as much water as
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1. Find the total cost of a chocolate bar and a toffee

11. Which one costs more?

3 ice-creams

or a toy

Q9. Solve.

(1X4=4)

Observe the following railway timetable of Kids Express and answer the

following questions.

Distance from

Jalebipur ( in Km) Station Fare in Rs.
56 Barfinagar 29
113 Cholaghat 60
143 Dhoklabad 72
291 Jamun nagar 148

1. Find the distance : From Cholaghat to Dhoklabad :

Ans.

ii. Indira has to go from Jalebipur to Jamun nagar. How much does she pay for

the ticket ?

Ans.

i11. Find the cost of 2 tickets from Jalebipur to Barfinagar.

Ans.
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iv. Sita travelled from Jalebipur to Dhoklabad. She gave a 100 rupee note at the
ticket counter. What amount will she get back?

Ans.
Section —D (20 Marks )
Q10. Fill in the blanks . (1X4=4)
a) = +9=7
b) 50x =50
c) Rs. 3+ 100 paise = Rs.
d) 2000 ml = litre
Q11. Do as directed. (2X6=12)

a) There are 12 flowers in a flower pot. How many flowers will be there in

13 flower pots?

b) Complete the cash memo.
New paper mart Date : 01/01/2020
Chulbul Market , Aligarh Bill No. 423

Name and address : Rohan Panda , Alibaba street

S.No | Particulars Quantity | Rate (in Rs.) | Amount (in Rs.)
1 Note books 6 20 -
2 Ink Bottle 15 30
3 Pencils 10 2.50 o
Total
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c) Fill in the blanks:

1) A design has 3 flowers in it. A piece of cloth has 17 such designs. How

many flowers in all will be there on the cloth?
Ans: flowers.
1) How many corners do 9 triangles have?

Ans: corners.

d) How many bangles are there in 10 dozens of bangles?

e) Colour the following.

1) Even numbers in yellow colour.

i1)  Odd numbers in red colour.

267 | 450
344 | 99

f) 1) If one balloon costs Rs.8

9 balloons cost Rs.

i1) Continue the pattern.
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Q 12. Solve 1X4=4)

&S
P

=y
., <]

g .\A%
w525 A rabbit Jjumps 6 steps at a time.

C
4
—=—= A squirrel jumps 4 steps at a time .

A frog jumps 2 steps at a time .

4
W A horse jumps 10 steps at a time.

T
N

01112314 |5|6[7|8({9|10|11 (12|13 |14|15|16 |17 |18 |19 |20

If all of them start from zero

1. In how many jumps will the frog reach 18 ?

Ans.

i1. Which number will the rabbit reach after 3 jumps ?

Ans.

1i1. Who all will meet at number 6 ?

Ans.

1v. Will the horse ever be at number 19 ?

Ans.
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